http://www.sgguonline.com

000 0 0
GE-026006

B. Com. (Sem. VI) Examination
March / April - 2019
BCOME®601 : Management Accounting - II

Seat No.

Time : 3 Hours] [Total Marks : 70
1 dyg ‘O'«ll Gowles Hieel WLl Basel 1A wae 9, 14
yiQALHIA Bel Bel€ls Bua (3.)
X 20 8.50
Y 12 9.00
Z 08 6.50

AL 62U UMIRL slvd 3@ AsMnl 10% %ed O,
BRUR Geulen 540 (el 1y, 1R HidAHIAA]l QUL A u3dr 1A

yosol §
I Bl s4 Bud (3.)
X 320 3200
Y 120 900
7z 200 900
AlAAl [Raa-l a0l ¢
(1) HaHid Wil Raa-d
(2)  HldAIHId M RRad-d
(3)  HldAHIA Ay [QuaHd
4)  HauHd Fawl [Quad
(5) a4 Guy [aadq
YAl
GE-026006 ] 1

http://www.sgguonline.com

[ Contd...



http://www.sgguonline.com

1 ‘udd Ay3suRol [RM23HL s argel s dsHel Gauled ¥l 14
Asal siMelRln @dldl Hilsdl 1A yoo 8 ¢

USIR salf) |ugdl g2 (3.) |sa wu (3.)
SAYL SIHEIRL 10 12.00 120
WA SIHEIR] 16 4.00 64
EEE TR 8 6.00 48

34 232

w3V S0 ¢ WIMR Bawled 400 sl
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X | 1000 30.00 | 30,000 | 1000 30.00 | 30,000
Y 800 36.00 | 28,800 | 1200 37.50 | 45,000
// 600 42.00 | 25,200 800 40.50 | 32,400
2400 84,000 | 3000 1,07,400
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1,60,000, 3. 2,60,000, 3. 2,00,000,

(2) AL QAR ER.

it o allls 12%+ 2l uReldl 3. 1 dduid Hed YaM uiy

ay 412 g4 0.893, 0.797, 0.712, 0.636 2 0.567 8.

(o) adsid a3 3. 3,000 Wlls 12%- % © HRs €8 4

595 Adl S1U dl 3 ad-l 2id dd Hyed 32 Ay ?

(5) AL ANdR &2 ughidl v e $3.

4 [Bdd [M23 WA 6 evlidl 8. ¥+l (ol A Yoo & ¢

14

(1) WFs2 - A 2 W52 - B s34l U3l UsteL 3. 6,60,000

8 i deil 5 il YL 2id edur Bud 3. 60,000 8.

() wel¥ A8l (R A 5320 uddidl) A Yoo B ¢

qy wFs2-A U%s2-B
(3.) (3.)

1 1,65,000 3,30,000

2 2,64,000 2,97,000

3 3,30,000 5,28,000

4 3,96,000 1,65,000

5 4,62,000 1,32,000

(3) sudl maRl Al
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5 8

Ayl sdl WEse skl d

(1) Avy adqid e

(2)  ASISIRSclAL Vsl IR s8] 53U

3. 14 5 ad 2 10% Al 15%-1 d2ld 83 adyid Hed

{13y & ¢
ay 1 2 3 4 5
10%+l 83 adHid 34 | 0.909 | 0.826 | 0.751 | 0.683 | 0.621
15%-l 83 ddHid 4 | 0.870 | 0.756 | 0.658 | 0.572 | 0.497
el

4 g M2y ddl Gaued aHdl ddRAAl Sl s g dsl wdledl 14
HISL 8. il w2 su-dl uHa O [asedl 8. 35 [Aseumi a32idsd sl
3. 1,10,000 8. ¥ iel® 20y 5 add 8. vl A3 nas 13

unel 8
qy 4o1-A §>-B
2. 2.
1 44,000 22,000
2 22,000 33,000
3 33,000 44,000
4 33,000 44,000
5 44,000 55,000

s 42 slELsRs B d d2lda Ase Halel 2idRs amar el

dad Assl s3

ay 1 2 3 4 5
adld Y&t 15% A 3. 1+ | 0.870| 0.756 | 0.658 [0.572 | 0.497
adMld Y&d 20% A 3. 1 | 0.833| 0.694 | 0.579 [0.482 | 0.402
adMld Y&d 25% A 3. 1 | 0.800 | 0.640 | 0.512[0.410 [ 0.328
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() el AsL5IR5dr 25 A5 Sl ay B,
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2§14 3. 1,10,000 8. 10% daandl &2 q2ld YReu 253
0.9091, 0.8265 ¥ 0.7513 & (A1 217 53 &UIAH] daril
Adl). ol dd 2y adwid yed ded ¢d ?

() 3. 44,017

(5) 3. 41,580

(&) 3. 27,500

(3) 3. 33,495

ENGLISH VERSION

1  The following i1s the standard mix of production 14
of product-A :
Materials Kgs | Price per kg (Rs.)
X 20 8.50
Y 12 9.00
Z 08 6.50

The standard loss 1s 10%

of units introduced. Actual

production is 540 kgs. The actual consumption and cost of

material used i1s as under :

Materials Kgs Total Price (Rs.)
X 320 3200
Y 120 900
Z 200 900
GE-026006 | 8 [ Contd...
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Calculate the following variances:

(1) Material Cost Variance

(2) Material Price Variance

(3) Material Usage Variance

(4) Material Mix Variance

(6) Material Yield Variance
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OR
1  Atul Manufacturing Ltd. data relating to workers 14
employed for production of one unit of production is as
follows :
Types Hours | Wage Rate Total
Rs. | Amt. Rs.
Skilled Labour 10 12.00 120
Semi-skilled labour 16 4.00 64
Unskilled Labour 8 6.00 48
34 232
Actual performance : Actual production 400 units
Types Hours | Wage Rate Total
Rs. | Amt. Rs.
Skilled Labour 1800 16.00 28,800
Semi-skilled labour 4000 3.60 14,400
Unskilled Labour 1680 6.00 10,080
7480 53,280
Calculate following variances :
(1) Labour Cost Variance
(2) Wage Rate Variance
(3) Labour Efficiency Variance
(4) Labour Mix Variance.
GE-026006 ] 9 [ Contd...
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2  The details of production of a company for July, 2018 14

are as follows :

Particulars Standard Actual
Output (in units) 15,000 16,250
Operating Hours 15,000 16,500
Fixed Overheads (Rs.) 22,500 25,000
Variable Overheads (Rs.) 30,000 34,000
Working Days 25 26

You are required to work out the variable overheads
variances and fixed overheads variances.

OR
2 From the following data of Chintan Co. Ltd. calculate : 14
(1) Total Sales Value Variance
(2) Sales Price Variance
(3) Sales Volume Variance
(4) Sales Mix Variance
() Sales Sub Volume Variance

Product Standard Actual
Volume | Sale Price | Amount |Volume | Sale Price| Amount
Kgs. per unit Rs. Kgs. per unit Rs.
Rs. Rs.
X 1000 30.00 30,000 1000 30.00 30,000
Y 800 36.00 28,800 1200 37.50 45,000
7 600 42.00 25,200 800 40.50 32,400
2400 84,000 3000 1,07,400
3 (a) Explain the concept of Time value of money and 7
explain the concept of compounding and discounting in
brief.
(b What amount will be, if invested Rs. 20,000 for 4

3 years at 12% compound interest per annum ?
(1) Compounding 1s done annually.

(i) Compounding is done semi-annually.

GE-026006 ] 10 [ Contd...
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(¢) If the annual interest rate is 8% what will be 3
present value of Rs. 5,000 received at the end of the
22 and the 4™ year ?

OR

3 (a) The Manan Ltd. wants to purchase a machine at 7
the cost of Rs. 4,00,000. Estimated life of the machine
is five years. There is no scrap value of the machine.
Expected rate of return is 12%. Tax rate applicable is
50%. Estimated incomes before depreciation and tax is
as follows : Rs. 1,40,000, Rs. 1,60,000, Rs. 2,60,000,
Rs. 2,00,000, Rs. 1,20,000.

Calculate :
(1) Pay back period on the basis of discounted cash
flow.

(2) Average Rate of Return.

Note : At 12% discount factor, the present value of
Rs. 1 for first five years is 0.893, 0.797, 0.712, 0.636
and 0.567 respectively.

(b) If the interest is compounded every six month @ 4
12% annually on Rs. 3,000, what will be the amount at
the end of 3 years period ?

(¢ Explain the concept of average rate of return method. 3

4 Smital Ltd. has two proposals of which the details are 14
as below :

(1) Project A and Project B — The initial investment is
Rs. 6,60,000 for each project and the scrap value is
Rs. 60,000 at the end of the life of five years.

(2) The estimated profit (before depreciation and tax) is

as follows :
Year Project A Project B
Rs. Rs.
1 1,65,000 3,30,000
2 2,64,000 2,97,000
3 3,30,000 5,28,000
4 3,96,000 1,65,000
5 4,62,000 1,32,000
GE-026006 ] 11 [ Contd...
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(3) The rate of taxation is 50% and company adopts the

straight line method for depreciation.

(4) The directors have decided by considering risk factors
for the rate of 15% capital cost for the project A and
10% capital cost for the project B.

Determine using :
(1) Net Present Value Method.
(2) Profitability Index Method, which of the two

proposals should be accepted ?

The present value of Rs. 1 for first five years @
10% and 15% p.a. is as follows :

Year 1 2 3 4 5
Present
value @10% 0.909 0.826 0.751 0.683 | 0.621
Present value
@ 15% 0.870 0.756 0.658 0.572 | 0.497
OR
4 “Ankur Ltd.” wants to purchase a new machine to 14

increase their production capacity. The company has two
alternatives. On this, the initial investment 1s Rs. 1,10,000

for each option and the estimated life i1s 5 years.

The net cash flow is as follows :

http://www.sgguonline.com

Year Machine A | Machine B
Rs. Rs.
1 44,000 22,000
2 22,000 33,000
3 33,000 44,000
4 33,000 44,000
5 44,000 55,000
GE-026006 ] 12 [ Contd...
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Decide, which machine is more beneficial using the
method of internal rate of return on discounted cash flow.

Year 1 2 3 4 5
The present value

of Rs. 1 @ 15% 0.870 0.756 0.6568 | 0.572 | 0.497
The present value

of Rs. 1 @ 20% 0.833 0.694 | 0.579 | 0.482 | 0.402
The present value

of Rs. 1 @ 25% 0.800 0.640 | 0.512 | 0.410 | 0.328

5  The sub questions below are provided with more than 14

one answers. Find out true answer and also show your
necessary calculations (any seven)

(1) The purchase department manager is usually held
accountable for the

A)
B)
©
D)

If Material usage variance is 20, Material cost variance
is 44, standard material quantity 1s 20 kgs and actual
material quantity 1s 24 kgs, what will be the price of
actual material quantity per kg ?

Direct Material Price Variance
Labour Efficiency Variance
Variable Overhead Expenditure Variance

Material Usage Variance

@)

(A) Rs. 6 B) Rs. 5
(C) Rs. 4 (D) Rs. 3
(3) The data regarding labour-expense about production of

the A company of March, 2018 is as follows :
Actual paid direct labour (Rs.).....c.cccuuee.... 16,400
Direct standard hours ......ccoccceveeeeveiniviiinnennes 4,320
Standard wage rate per hour (Rs.)..........c...... 3
Actual paid hours ... 4,100

Hence the labour rate variance and labour cost
variance will be respectively.

(A) 4100 and +3440 (B) -4100 and —3440
(C) +3440 and 4100 (D) +3440 and +4100

GE-026006 ] 13 [ Contd...
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(4) The details of overhead cost are as follows :

Particulars Standard  Actual
Production units ........cccccooerevriiniinieneennn.. 2000 .......... 2200
Variable Overheads......cc..c........... Rs. 10,000 ....... 12,000
Hours ..o, 2000 .......... 2250

Find out the variable overhead efficiency variance.
(A) 250 (B) +250
(C) -150 D) +150

(5) As per the concept of ‘Time Value of Money’ the value
of money

(A) 1s higher in earlier years than in later years.
(B) 1is equal in all the years.
(C) 1s higher in later years than in earlier years.

(d) None of the above

(6) Which of the following statements is correct as regards
Fixed Overhead Variances ?

(A) As fixed overhead always remains fixed there can
be no variance as regards fixed overheads.

(B) Fixed overhead budget variance is the difference
between total fixed overheads as per budget and
actual fixed overheads.

(C) While computing fixed overhead variance, it is not
necessary to work out recovery rate.

(D) There can be no efficiency variance in fixed
overheads.

(7Y Compound interest is calculated on :
(A) Principal amount only
(B) On Principal amount + Interest amount

(C) Interest amount only

(D) Nomne of the above
GE-026006 ] 14 [ Contd...
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(8) If present value of total investment and present value
of cash flow are equal then project

(A) 1s unacceptable

(B) has a profitability index more than one
(C) has a profitability index less than one
(D) None of the above

(9) Pinku Company Ltd. has invested Rs. 2,75,000 in a
project. The cash inflow of three years is as follow
respectively. Rs. 1,10,000, Rs. 1,65,000 and Rs. 1,10,000.
The discount factor at 10% discount rate 1s as
follows : 0.9091, 0.8265 and 0.7513 (Depreciation and
taxes are to be ignored). Which of the following is the
net present value?

(A) Rs. 44,017 (B) Rs. 27,500
(C) Rs. 41,580 (D) Rs. 33,495
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